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public class Client {

public static void g(String args[])
{
List<String> | = Arrays.asList(args);
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public class MATRIX {

/** inverse of current with precision epsilon
* @pre epsilon >= 10 ~(-6)
* @post (this.mult($prev(this)) — ONE).norm <= epsilon
*/

void invert(double epsilon);
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public class ACCURATE_MATRIX extends MATRIX {

/** inverse of current with precision epsilon

* @pre epsilon >= 10"(-20)

* @post (this.mult($prev(this)) — ONE).norm <= epsilon/2
*/

void invert(double epsilon);
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public class A {
public float foo(float a, float b) throws 10Exception{
3

}

public class B extends A {

}

Which of the following methods can be defined in B:
B 1. float foo(float a, float b){...}
M 2 public int foo(int a, int b) throws Exception{...}
Bd 3. public float foo(float a, float b) throws Exception{...}
4. public float foo(float p, float q){...}
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